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Answer Any FIVE FULL Questions 

 Marks 

OBE 

CO RBT 

    1  Discuss on  surge impedance of a transmission line. Explain the condition of the  

 line under surge impedance loading. Draw the phasor diagram of naturally  

 loaded line for a = 200 mi & f = 60Hz 

[10] CO3 L2 

    2  Derive the necessary equations and also draw the voltage and current profiles 

 with respect to uncompensated open circuit line on no load. 

 [10] CO3 L2 

    3   Derive the expression for virtual natural load in terms of degree of series and   

shunt Compensation.                                                                                                                               

[10] CO4 L2 

4  Explain with the help of neat sketches, the control of open circuit voltage by 

 shunt reactance. 

[10] CO4 L4 

5  Discuss the objectives and limitations of series compensation.                                                     [10] CO5 L2 

6  Explain the fundamental concepts of compensation by sectioning. [10] CO3 L4 

7 Explain power transfer characteristics and maximum transmissible power for a 

general transmission line. 

[10] CO4 L4 
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